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Tén: Ngay thang: Piém:
2 2 _ 2 _3_
4 6 3 7
3_2_ 4_1_
6 9 7 7
L4 o6
2 7 2 7
2 3 1 3
4 8 2 7
4 2 31_2_
5 5 2 9
4 2 5 4
7 5 8 7
42 6 _4_
8 7 7 5
2 1 3_1_
7 4 4 3
o5 5 2_
2 8 6 7
4.2 11
5 4 6 3
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phép trir phan sé (hdn s6)
én: Ngay thang:
2_2_1 2.3_5
4 6 6 3 7 21
3 2 5 4 1 3
6 9 18 7 7 7
f—4—27—f3 11_6_9
2 7 14 14 2 7 14
2 3 1 1 3 1
4 8 8 2 7 14
4 2 2 31_2_@_33
5 5 5 2 9 18 18
42_6 543
7 5 35 8 7 56
423 6_4_2
8§ 7 14 7 5 35
2 1_1 3_1_5
7 4 28 4 3 12
1 2 _B_,7 > 2.2
2 8 8 8 6 7 4
4 2 3 11_1_5
5 4 10 6 3 6
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